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JERRH R X 1 81, 412, 496
AR B T = 1 4,354, 198
BT 2 1 4,165,700 | HiEAN 10 i
(FEHESTHLHL )
SR EN 15 N
(BIEENTHLHL D)
AR R - Bk 1 X
BEARRE AT = 1 188,498 | B&{AS (BEER) ¥ 1 70 m3
4. 0mPL E
T wb AT 1 X
0 Cabl- EHIRY £5Te) ;
FEHA O-27) 1 X
+Hw 550, 000m3 AT ;
A 70 m3
LY A7 iy b FRLE PEEME 5, 000m3AH ;
T wb AT 1
0 Cadl- EHIRY £5Te) ;
e 1 =
B (O-27)
7wy (GE) T 2 1 1,575, 768
e+ T 2 1 86,489 |IRYE Y 1 X
+4)
HEL 1 2V
HmEEE 1 =X
b T 1 X
0 Cabl- EHIRY £5Te) ;
e 1 =
L O-2)
/) =47 my ) (2 ) =177 ny ) = 1 1,489, 279 | BUGFT RV Y-} 19 m
18-8-40 (754F) JEIE 52cm & 30cm ;
2/7) b (R%0) 7" ny /il 43 m2
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TSy « TfE - FER B {7 % & A bl iR
JIA - BEARE () 8 m3
FARAG RC-40 ;
1Eskavp) -} 0.9 m3
18-8-40 (B JF) ;
Bl HT Rbiav - 0.8 m3
18-8-40 (B JF) ;
BFT/ A akay ) -} 1 m3
18-8-40 (&)
A =p T 2 1,195, 157
EELT = 60, 503 | FRHE Y 1 X
+4)
HEL 1 2V
HmEEE 1 =X
T wb AT 1 =X
0 CaBl- EHIRY £5Te) ;
e 1 =
B (O-27)
7 VR AN = T 2 1,134,654 |7 VEyAME vIA 5 m
P 1.5m PN 1.5m ;
HEKHEEY T = 2,476, 761
EELT = 373,486 |FRIEY 1 X
+4)
HEL 1 2V
HmEEE 1 =X
b T 1 =X
0 Cadl- EHIRY £5Te) ;
e 1 =
L O-2)
T = 1,105,675 |7 VEyAbUBIITE 55 m
300X 300 ;
UK % 9 m

1500 X 1500  18-8-25 (20) W/CFHIF M L
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TEHEX Sy - THE - R H A7 ¥ & & # A bl A iR
AR v T 2 1 997,600 | BUGFT B K 1 (£
BIGHTAS 24-12-20 (BJF) 2000 X 2000 X 2000 ;
BGHT K 1 (£
BT 24-12-20 (BJF) 2000 X 2000 X 2500 ;
BT 2 1 56, 169, 543
BIRL X 1 50, 127, 860 | kit FH &k ) - Mg 53.8 m
¢ 1500mm ;
Htlas BLAE R 1 X
JE/KJLER 215 m3
HAD 53.8 m
EHH 43 &30
Bl 53.8 m
HIET = 1 4,585,692 | X FhE 1 2V
o 1 =
#Ev 1 X
B RE ) ) -} 1 X
18-8-40 (B JF) ;
HEAE RS e IR AT il 1 X
HetERs | EHs R 1 X
HEMEREHE 1 X
HEHEREH: 1 X
/) ) -MEEEBUE L 27 m3
A EY AT
st 27 m3
/)= (AT
o 1 27 m3
/)= (AT
RISy 27 m3
/) - bk BEA%)
FIRT 2 1 98, 100 | iEfE BlHR% (i 1 X
BT = 1 1,007, 151 | EHEVERRAH 1 2V
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HIET = 1 165, 500 | AR 1 =
BT 2 1 185, 240 | HEHEK S 1 X
HEE L = 1 278, 872
e LT it 1 188,738 |27~ HsE L 9 m3
MRS BhkE T
2y~ Mg B L 2 m3
g NJii L
HEKAEE S L X 1 702 | EhdEE 3 e
TR AL T = 1 89, 432 | BGENR 9 m3
av ) -bik (BER5)
DO 2 m3
/) -hik Bk
By 9 m3
av ) -bik (BERR)
By 2 m3
/) -hik Bk
BULGR AR S i 1 X
R ARBEKE |
I = 1 15, 362, 197
EELT =X 1 806, 292 | FRHE Y 1 X
+H
HEL 1 2V
b T 1 X
0 Cabl- EHIRY £5Te) ;
e 1 =
L (-27)
T wb AT 1 X
0 Cabl- EHIRY L&) ;
FEOA O=20) 1 =X
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+1 850, 000m3AT ;
THEHER T = 1 6,287,525 | LHEHEKK L 1,110 m3
(BT I
4. 0mPL E
THEHERE L 1,070 m3
(BT
4. 0mPL E
R T S 1 4,414,747 | SR 60 {2
(BEENTIT)
ITTRY PSR E & 8m $HRHITIAR 7.5
m ARG R 7. 5m ;
AR 46 e
(BT H)
ITTRY PR E & 8m $HRHITIAR 7.5
m ARG R 7. 5m ;
UG- Mk L 5.8 t
(BEENTIT)
UG- Mkl L 3.4 t
(BT H)
SEUURESE 53 m2
18-8-40 (B JF) ;
B8 A S i 1 X
R ;
KT 2 1 334,620 |& V7 HEK 1 =
0LA 1240 (m3/h) Aiii 1EZERFHEAK
IRK T 2 1 2,477,443 |fE3+T 1 =
KSR K 28 m
¢ 800 # 7 WiTE .
KSR K 24 m
¢ 300 47 Vi .
7" Vv A NUBRMAITE: 120 m
300X 300 ;
BT 5 Kt 3 £ FT
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BUGFTHT 18-8-25 (fi4F) 500X 500X 600  FiriéH
W
A ERE E T = 1,041,570 | AQi@#AE 205 B 1 =
[ERAE Xy = 81, 412, 496
HiE R = 13,100, 118
BISTIGE: = 4,725,118
TERE 2 3,364,200 | EE AL AR Sy AARAELNT By 1 =
EERC T Sy A ERVA TR <y 1 =
IER M TR 1 =
L PN R i e = 314, 118 | it T /K& 2 1 =
BB = 175,000 | &g 1 =
HeffrE sy = 58, 800 |18 & fiti ik FeA T — H AERR 2 1 =
BGRESGESE (5 L) = 813, 000
B (FEHL) = 8, 375, 000
T = 94,512, 614
Bl gy = 29, 607, 000
T =5l = 124,119, 614
— R A = 20, 680, 386
TS = 144, 800, 000
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